Code:

. Revision 3
[geTeiileisll Floor Fixed Netball © Harrod UK Limited

NBL-032 INS146
09/02/10

S

>

A A

I1.
12.
13.

Pack Contents

g X gioor Eixeg Eeﬂ;aﬁ gpfight gggggg; Please read instructions before you

X Floor Fixed Netball Base ;

2 x International Netball Ring (PEQ629) begin to assemble your netball
8 x Standard SH2 Ground Sockets for posts. The pack contents are for a
Solid Floor (Optional) (ASYO001+BOLS8S55) pair of posts.

8 x Long SH2 Ground Sockets for

Sprung Floors (Optional) (ASY002+BOL855)
8 x M12 x 30 Button Head Screw (BOL142)

4 x M10x25 Square headed Bolt (BOL336)

4 x M10 Nylock Nut (BOL202)

4 x M10x50 Stainless Steel Hex Screw (BOL306)

4 x M10 Washer (BOL709)

. 4 x M10 Plastic Washer (BOL721)
8 x Large M 12 Washer (BOL702)
1 x 8mm Allen Key (BOL790)
4 x M10 Spring Washer (BOL713)

% e N CH
® @ @

£ @S, 00 (06
© @ ©®© 0 O O

Socket Installation Dimensions

View of Product

B

O 9 .
260mm | |2
8
8

9 O

Fig 2 Fig 1




Code: NBL-032

Floor Fixed Netball

Assembly Instructions

SH2 Socket Installation:
The sockets should be installed by a specialist, using the following guidelines, place
contact your distributor for recommended specialist fitting engineers.

Mark at location shown in Fig 2. Drill @20 hole 160mm deep from finished floor level for
standard SH2 socket or 210mm deep for longer SH2 socket (purchased separately for
sprung floor).

Using the pack contents list overleaf, identify the parts required to assemble the
Netball Posts purchased.

Using the M12 Button Head Socket Screws bolts provided anchor the base of the
netball posts to the ground (Fig 1), secure with the 8mm Allen Key provided.

Slide 2 M10x25 bolts (6) up the recess of the aluminium extrusion. Offer the netball
ring up to the recess in the post locating the bolts through the plate, ensure that the top
of the plate in the ring is flush with the top of the post and secure with M10 Nyloc (7) and

Washer (10) (Fig 3).
Q @,
@/E----n -------- -]
d
<[ |

Fig 3

Insert the posts over the base spigot ensuring that the recess of the aluminium post is
inside the court. Secure with bolt (8) and washers (9 & 13).




